. What is JVM ? Explain the working of JVM, JDK
and JRE.

JVM & & ? JVM, JDK &R JRE & %™ &l THET |

. What is Array ? Explain the one dimensional array

with the help of example.

W F T ? TR hI TEFd 9 91 SEHIEA Wl
HAERT |

. Explain all elementary data types in Java.

ST § | wrafiaes 21 <Y %l §EeET|

. What is Thread ? Explain the life cycle of a thread.
JT F ¥ ? IS H SHOA-TF HI GHEET

. Explain the Applet Life Cycle in detail.

TiZ 5% Wigehel i fodRyes =arsy |

. What are JAVA Packages ? Write the steps involved

in creating user defined package.

Sren st ;M ¥ ? goR fewwree YW wR H wnfaa
= = fafera )
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B.A./B.Sc. (Part III) Examination
Programming in Java
Paper : CS-08

Time : 2 Hours | [ Maximum Marks : 55

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

fder .- T% g ‘o’ @i ‘e < wrel § fauiea ¥ we
g % FEYER wve & W e

Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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(iii)

@iv)
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(vi)
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Define instance members.
T T &1 g sifs
What is string ?

fenFn g ?

What is AWT ?

AWT &1 & ?

Write the syntax for do statement.

DO Statement ®eHe H1 IEd fafem |
What is Labelled Loop ?

WeITE U N T ?

Write the syntax for switch statement.

Switch =2He &1 ey fafem |

(vii) What is Looping ?

Sf #n ® 2
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Section-B 4%x12=48

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 12 marks.

QU —a

(g ST 999)
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. Explain all features of Object Oriented

Programming in detail.
stfeve siftuee gt &t et fosmstt #1 fammya®s
EnE

. What 1s Type casting ? Explain implicit and

explicit type casting.

221 2y uRadd # ¥ 2 Implicit 3R explicit e

Y gREdd il THET |

633 Turn Over



